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2.6 0.4953 0.4955 0.4956 04957 04959 0.4960 0.4961  0.4962 0.4963 0.4964
27 0.4965 04966 0.4967 04968 04969 04970 04971 04972 04973 .4974
2.8 04974 0.4975 0.4976 0.4977 04977 0.4978 0.4979 04979 0.4980 0.4981
29 04981 0.4982 0.4982 0.4983 04984 0.4984 04985  0.4985 0.4986 0.4986
3.0 0.49865 0.49869 0.49874 0.49878 0.49882 0.49886 0.49889  0.49893 0.49897 0.49900

3.1 049903 0.49906 049910 0.49913 0.49916 049918 049921 0.49924 0.49926 0.49929
32 049931 049934 049936 0.49938 0.49940 0.49942 0.49944 0.49946 0.49948 0.49950
33 049952 049953 0.49955 0.49957 0.49958 0.49960 0.49961 0.49962 0.49964 0.49965
3.4 049966 0.49968 0.49969 0.49970 0.49971 0.49972 0.49973 0.49974 0.49975 0.49976
3.5 0.49977 0.49978 0.49978 0.49979 0.49980 0.49981 0.49981 0.49982 0.49983 0.49983
36 0.49984 0.49985 0.49985 049986 0.49986 0.49987 0.49987 0.49988 0.49988 0.49989
37 0.49989 0.49990 0.49990 0.49990 0.49991 0.49991 0.49992 0.49992 0.49992 0.49992
8 0.49993 0.49993 049993 0.49994 0.49994 0.49994 0.49994 0.49995 0.49995 0.49995
9 0.49995 0.49995 0.49996 0.49996 0.49996 0.49996 0.49996 0.49996 0.49997 0.49997
0 0.49997
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